
Page 1 of 3 

Seat No.: ________                                                      Enrolment No.______________
  

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.- IV

th
 SEMESTER–EXAMINATION – JUNE- 2012 

Subject code: 346002            Date: 21/06/2012        

Subject Name: URBAN TRANSPORTATION PLANNING 

Time: 02:30 pm – 05:00 pm        Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered to be Authentic 

Q.1 (a) Compare the different modes of transportation in terms of accessibility & 

utility, mobility and efficiency. 

07 

 (b) What is zoning? Explain briefly types of surveys carried out for collection of 

data in zoning.   

07 

Q.2 (a) Explain the stage of transport planning, survey and analysis of existing 

conditions. 

07 

 (b) Explain the stage of transport planning, forecast analysis of future conditions 

and plan synthesis. 

07 

 (b) Define:1) Transport planning 2) Trip 3) Home based trip 4) Origin 5) Screen 

line  6) Trip assignment 7) Trip distribution 

07 

    
Q.3 (a) What is trip generation? Explain the factors affecting trip generation and trip 

attraction rates.  

07 

 (b) Write short note on Multiple Linear Regression Analysis. 07 
  OR  

Q.3 (a) Explain Gravity Model. 07 
 (b) Explain Constant factor method. 07 

Q.4 (a) Three zones A, B, C are shown in figure:-1 with interchanges between A and 

B =20, between B and C = 30 and between C and A = 40. Growth factors of 

2.5, 3 and 1.5 are forecasts for the zones A, B and C respectively. Using the 

fratar method, compute the zonal interchanges in the forecast year.  

07 

 (b) The total trips produced in and attracted to the three zones A, B and C of a 

survey area in the design year are tabulated as: 

Zone Trips produced Trips attracted 

A 2000 3000 

B 3000 4000 

C 4000 2000 

It is known that the trips between two zones are inversely proportional to the 

second power of the travel time between zones, which is uniformly 20 

minutes. If the trip interchange between zones B and C is known to be 650, 

calculate the trip interchange between zones A and B, A and C, B and A, C 

and A, C and B. 

07 

  OR  
Q. 4 (a) Explain the purpose of traffic assignment. 07 

 (b) Explain all-or-nothing assignment and multiple route assignment. 07 
Q.5    

 (a) What is modal split? Explain the factors affecting Modal split. 07 
 (b) Explain system approach to Transport Planning with flow chart. 07 
  OR  

Q.5 (a) Write short note on Evaluation. 07 
 (b) Explain “Golden quadrilateral”. 07 

************ 
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5|`Gv!5|`Gv!5|`Gv!5|`Gv!    V �ા�સપોટશન
  ના ં�દાુ  �દાુ  �કાર ને એકસેિસ�બ�લટ� અને ઉપયો�ગતા, 

�ગતશીલતા અને કાયૅ "મતા ના ંઅ$સધંાનમાુ  સરખાવો. 

07 

 A ઝોન*ગ + ંછે ુ ? ઝોન*ગની મા.હતી એકઠ� કરવા માટ જ2ર� 
 ુ

સવ3"ણના �કાર 5ંકમા સમ6વોૂ . 

07 

   

 

 

5|`GvZ5|`GvZ5|`GvZ5|`GvZ    V �ા�સપોટશન 8લાન*ગના નીચેના તબ:ા િવશે સમ6વો; - �હયાત 

પ.ર=>થિત$ સવ3"ણ અને @Aથકરણુ ુ . 

07 

 A �ા�સપોટશન 8લાન*ગના નીચેના તબ:ા િવશે સમ6વો; - 

�ભિવCયની પ.ર=>થિત$ ફોરકા>ટ એના�લિસસ અને 8લાન િસEથેિસસુ . 

07 

  VYJFVYJFVYJFVYJF  

 A FયાGયા આપો � (1) �ા�સપોટL આયોજન (2) ��પ (3)ઘર આધા.રત 

��પ (4)ઉગમ�બEQ ુ (5)>S�ન લાઇન (6) ��પ એસાઇનમVટ (7) ��પ 

.ડ>��YZશનુ  

07 

5|`Gv#5|`Gv#5|`Gv#5|`Gv#       

 V ��પ જનરશન
  + ંછે ુ ? ��પ જનરશન
  અને ��પ એ�[કશનના દરને 

અસર કરતા પ.રબળો સમ6વો. 

07 

 A મ]^ટપલ-�લિનયર .ર_ેસન એન�લિસસ િવશે 5ંક ન`ધ લખોૂ . 07 

  VYJFVYJFVYJFVYJF  
5|`Gv#5|`Gv#5|`Gv#5|`Gv#       

 V _ેવીટ� મોડલ સમ6વો
  07 

 A ક`�>ટંટ ફaટર પbધિત સમ6વો
 . 07 

    
5|`Gv$5|`Gv$5|`Gv$5|`Gv$       

 V cણ ઝોન અ,બ અને ક આdિત-1 મા ંદશાeવેલ છે તથા અ અને બ, બ અને 

ક તથા ક અને અ વfચેના ઇ�ટરચVgસ અ$hમેુ  20,30 અને 40 છે. ઝોન 

અ,બ, અને ક માટના
  આગા.હ કરલા
  _ોથ ફaટર
  2.5, 3 અને 1.5 છે. 

આગા.હ કરલા
  વષe માટ
 jટાર પbધિતથી ઝોનલ ઇ�ટરચVgસ ગણો. 

07 

 A .ડઝાઇન વષe માટ એક સવ3"ણ િવ>તારના cણ ઝોન અ
 ,બ, અને ક 

માટ ઉkપા.દત અને આકિષlત mલ .�8સ નીચેના ટબલમા ંદશાeવેલ છે
 
ુ . 

ઝોન ઉkપા.દત .�8સ આકિષlત .�8સ 

અ 2000 3000 

બ 3000 4000 

ક 4000 2000 

બે ઝોન વfચેની ��8સ �દાુ -�દા ઝોન વfચેના nસાફર� સમયના ુ ુ

વગeના Fય>ત �માણમા છે, અને nસાફર� સમય ુ 20 િમિનટ છે. ઝોન 

બ અને ક વfચે ��પ ઇ�ટરચVજ 650 છે. તો ઝોન અ અને બ, અ 

અને ક, બ અને અ, ક અને અ, તથા ક અને બ વfચે ��પ ઇ�ટરચVજ 

07 
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ગણો. 
     VYJFVYJFVYJFVYJF  

5|`Gv$5|`Gv$5|`Gv$5|`Gv$       

 V �ા.ફક એસાઇનમVટના હpઓ સમ6વો
 ુ . 07 

 A ઓલ-ઓર-નથ*ગ એસાઇનમVટ અને મ^ટ�પલ rટ એસાઇનમVટ 

સમ6વો. 

07 

    
5|`Gv55|`Gv55|`Gv55|`Gv5       

 V મોડલ
  s>8લ5 + ંછે ્ ુ ? મોડલ
  s>8લuને અસર કરતા પ.રબળો 

સમ6વો. 

07 

 A �ા�સપોટe  8લાન*ગ માટ િસ>ટમ એ�ોચ vલો ચાટe  સાથે સમ6વો
 . 07 

  VYJFVYJFVYJFVYJF  
5|`Gv55|`Gv55|`Gv55|`Gv5       

 V ઇવે^Zએશનુ  િવશે 5ંક ન`ધ લખોુ . 07 

 A ગો^ડન aવા.wલેટરલ િવશે સમ6વો. 07 

 

************ 

 

 

 

 

 

 

 
 

 

Q :- 4 (a) FIGURE :- 1 

20 Trips 

30 Trips 

A 

40 Trips 

B 

C 

Fa = 2.5 Fb = 3.0 

Fc = 1.5 


